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Questions 1 through 4 refer to the following
passage and map.

Of all the continents, only Antarctica has not
attracted permanent settlers. Antarctica is one of
the most difficuit places in the world to live. The
average temperature is 56 degrees below zero.

Even though'it is a cold land covered by snow
and ice, Antarctica is considered a desert. Only a
smail amount of precipitation falls every year. It
falls in the form of snow. The snow almost never
melts, and over the centuries, the light snowfalls
have built up to form a sheet or “cap” of ice that
is thousands of feet thick.

Only a few types of plants survive in the rare,
rocky places that are not covered by ice. Except
for a few insects, animals are able to live only on
the edges of this vast frozen continent. Penguins
and seals gather food in Antarctica’s offshore
waters, which, although studded with icebergs,
are warmer than the land.
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1. Which of the following correctly restates

information about Antarctica from the map?

(1) Because of its location at the South
Pole, it does not have seasons.

(2) Many nations have research stations, ’
but the United States has the most.

(3) The Transantarctic Mountains divide it
into eastern and western regions.

(4) It consists mostly of shelf ice, but with
mountain ranges and an ice cap, too.

(5) The highest point is found at the South
Pole in the continent’s interior.

. What does the passage imply about

deserts?

Deserts exist only in Africa and Asia.

A place that is_cold cannot be a desert.
Snow almost never occurs in a desert.
Deserts have sand, even if covered by
ice.

(5) Places with little precipitation are
deserts.
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. Why do Antarctica’s largest animals live

along the coasts, not in the interior, of the
continent?

(1) The interior is too cold.

(2) The interior is too mountainous.

(3) Most of the interior is covered with ice.

(4) The interior has no good food source.

(5) Researchers in the interior have hunted
large animals to extinction.

. Which value has most likely caused nations

to establish research stations in Antarctica?

(1) curiosity—to learn more about the
continent

2) courage—Ilack of fear of the climate

3) compassion—to help the people there

4) love of nature—to save its animals

5) efficiency—to build industry on unused
land
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